SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 2)

TEST 2

Name:

Time: Score:

n 398112 — 205100 =

2 592294 — 82080 =

9695163 — 632100 =

4 222571 — 121240 =

5 683596 — 522520 =

6 441822 — 141500 =

N 427638 — 23436 =

9 308234 — 208204 =

9 348894 — 324621 =

100256393 — 105062 =

1) 8154870 — 8042170 =

12) 4769059 — 4213011 =

13) 525739 — 101226 =

1) 795322 — 634200 =

15) 692322 — 32002 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 2
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842299 — 322108 =

223511 — 21000 =

574965 — 54665 =

821249 — 611047 =

843098 — 822513 =

218107 — 7 =

789367 — 73012 =

5265929 — 4032018 =

2489336 — 2181200 =

290848 — 160136 =

624966 — 624632 =

809094 — 403093 =

461281 — 200121 =

501859 — 301459 =

524097 — 23065 =
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